Fill in +he Blanks

Simultaneons Eduations (different y coefficients)

Multiply one Carry out Substitute State
Question or both s:lftcll-a(::t'? addition or \(I’\Iuotr: x into one ‘(’:’u(::rk both
equations " | subtraction equation Y | answers
4x + 2y = 18
2x+y=9 | 4x+2y =18 . _ _ 2x+y =9 _ x =4
x+2y=6 | x+2y=¢ |OUDtACLIZX+Zy=06 | x=4 | g, 0 o | Y=11 5 _4
3x =12
3x +y=17 | 9x + 3y = 51 9x+3y =51
oy — 3y =4 | 2%—3v =4 Add +2x -3y =4
Y= Y= 11x =55
x—5y=9 x—5y=9
4x +y =15 |20x+ 5y =75
4x + 3y =1
x—2y=-8
2x — 5y =13
4x — 2y =10
x+6y=3

2x+9y =4




